adn ¢ 10?

WA CREET T ASALS (110G
hGTnT sB9°C = ATLCTo- nC
19 S84 0N T av Lav(C NG
avEI° AWDE T h BTG “CIC
vy Eav/ z ¢4 Bl NG =

72040 A SNV Fa = “10HF © “Td.A

av av( (LIP7 = a0, a0(; T dPFNA
W AFE CUUA T AN T 14 havA
NG 0L L 4N T PPN hIPNA =

T N HIA T ATNC NPme
heot9® an 2 7 010 SPaom-
LAY U = 0COT WA M-
AYHA 2 “Tad.A = L9°C = o
we NLAAL 7O LMy

NOHE ‘b : L0 0-P T4
g SAAT 7 PT hOF)DE
ETiot Uk "0 £714

hO7 10077 7 SPTA N4

PNy e P 1 SAN hOrt14 =

NOHE = “TdA 2 ONT"ICT AT
028 AN AF 2 NI™I0T 007
Tl WiOP 1 hWEI° 0PNy
U-9° NPANT 7 4T hérh
LI°LT 10T T WGTT @ AN =

AL hB0&I° T VA LI°C
adin GPTA T £9°C T HE HE
heNeg° 1Al = Cub-tAl £9°C
nnjl hGePem9° = ¢AGest n9°C
nmiG@ hTA 1 AN WL
eaanae-y = e T4 =

W8T 10 LAalk = ANk -HHA

nav an; (1¢C = 104 7 “Tad.A
w PN O 10 7?

JH.o-

June 28, 2018



